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1
1
Al G
Ay ]
Az C
A D.
A 4 1
(
)AS D2
By D ( )D3
B2 Dy
B B3
1 () 1
; , , 2
2
1 2 3 4 5
Ay 0.3214 0.2332 0.2718 0.2728 0. 1449 0.25
Ao 0. 1205 0.2332 0.2718 0.1133 0. 3490 0.22
A
.23 As 0. 2580 0.2332 0. 1406 0.2190 0. 1805 0.20
' Ay 0.1501 0.1503 0. 1406 0.2190 0.1805 0.17
Asg 0.1501 0. 1503 0. 1752 0.1758 0. 1449 0.16
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By 0.3713 0.3333 0.2211 0.3713 0.3713 0.33
(0_831) B 0.3713 0.3333 0. 4600 0.3713 0.3713 0.38
B3 0. 2574 0. 3333 0. 3189 0. 2574 0. 2574 0.29
c C 0.5 0.5 0.5 0.5 0.5 0.5
(0.22) G 0.5 0.5 0.5 0.5 0.5 0.5
Dy 0. 3602 0. 2660 0. 4074 0.4633 0.4141 0.38
D D, 0. 1580 0. 2660 0.1787 0.1789 0.1238 0.18
(0.23) Ds 0. 2737 0. 2660 0.1787 0.1789 0. 2769 0.24
Dy 0. 2080 0. 2021 0. 2352 0.1789 0.1852 0.20
2. ( 3,
( 4
3
2 3 5 6 7 8 10
Ay 8 7 9 8 8 6 9 7 8
Az 7 6 8 7 7 8 8 9 8 8
A Az 8 7 8 9 9 8 8 7 6 7
Ay 8 9 9 7 8 8 9 8 9 10
As 8 9 9 9 10 8 7 9 7
B; 8 7 8 9 9 7 8 6 7
B B, 10 9 8 9 10 10 9 8 8 7
B3 9 10 9 8 10 9 9 8 7 8
C 10 9 10 10 9 8 7 9 9 10
c G 9 8 7 9 8 9 9 10 8
Dy 9 9 10 10 8 8 9 9 10
5 D, 10 9 8 8 9 7 10 10 9 9
D3 7 7 8 6 7 7 9 7 6
Dy 9 9 8 8 9 7 10 10
4
A 0.3 0.6 0.1 0
A; 0.1 0.8 0.1 0
A Az 0.2 0.7 0.1 0
Ay 0.5 0.5 0 0
As 0.5 0.5 0 0
By 0.2 0.7 0.1 0
B B2 0.6 0.4 0 0
B3 0.6 0.4 0 0
Cy 0.8 0.2 0 0
c ©} 0.6 0.4 0 0
Dy 0.8 0.2 0 0
5 D, 0.7 0.3 0 0
D3 0.1 0.7 0.2 0
Dy 0.7 0.3 0 0
3. EXCH. ( ),
0.30,0.63,0.07,
0.47,0.50,0.03,
A =(0.23,0.31,0.22,0.23) \% 0.7.0.300
0.59,0.36,0.05,
B =A *\/ =(0.51,0.45,0.04, 0)
(G , , ) (0.51,0.45,0.04, 0)
" 0.51, 0.45, 0.96
2004
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(Mass Cugomization ,MC)

[1]
(2]
(3]

?17?
0.96,
?
(™). : ,2003,1 70
Q. ,2002 ,14(1) :37 42
Q. ,2002 ,16( ) :80 83
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